1-800-279-8727 Important Please Read
www.trimmertrap.com

TR-1 Portable Hand Tool Rack Instructions

Thank you for purchasing a TrimmerTrap product. The TR-1 allows the “rack unit” to be removed and
switched to another location by pulling a single pin. The TR-1 rack consists of four parts, not including
hardware. The four parts are: one upper and lower vertical post and one upper and lower horizontal
pieces. The upper pieces (both horizontal and vertical parts) are shorter than the lower pieces. The lower
vertical post attaches to the truck or trailer, with the “foot” on top. Attaching hardware must be at least 3/8"
Grade 5 bolts and lock nuts. Due to the many different construction techniques used on trailers, the
hardware required to attach the rack is not included and must be acquired by the user. The post
must be drilled in the center from side to side and the two holes should be a minimum of ten inches apart
vertically. The “foot” on the top vertical post can then be inserted into the “foot” on the bottom post and
secured with the locking pin included. The top post must be slid onto the bottom post with a minimum of
two hole positions.

The upper and lower horizontal pieces can now be attached to the top and bottom of the top vertical post.
The top piece attaches with two 5/16" x 2" bolts and lock nuts provided. The bottom piece attaches with
two 5/16” x 1" bolts and lock nuts provided. Both horizontal pieces attach with the “lip” facing down. The
two black clips attach to the lip on the bottom vertical piece at the ends using two 3/16” machine screws
and lock nuts included per clip. These clips are for securing a"D” handle tool such as a steel spade.

NOTE: IT IS THE PURCHASERS SOLE RESPONSIBILITY TO ASSURE THAT THE RACK IS INSTALLED SAFELY AND
SECURELY TO A COMPONENT THAT WILL ADEQUATELY SUPPORT THE EQUIPMENT.

TR-1 Parts List Quantity Part #

5/16" x 1" bolts two

5/16" x 2" bolts two

5/16" nylon lock nuts four

3/16" machine screws four upper horizontal pan
3/16" nylon lock nuts four

spring clips two TR CL-1 UppErveTHCE part
5/16" safety clip one

lower hornizontal pan

spring clips

safety clip

trailer rails

WARRANTY: 90 days against defects in material and workmanship, TrimmerTrap, Inc. reserves the right to repair or
replace at its sole discretion the alleged defective TrimmerTrap product. Determination of validity of alleged defect claim
will be made upon goods returned to us freight prepaid to our location in Louisville, KY. Call 1-800-279-8727 for a return
goods authorization.



